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Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het 
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op. 
 
 

Tekst 1  Myth of genius ignores science’s real method 

 
1p 1 Which of the following fits the gap? 

A accurate 
B popular 
C simplistic 
 
 

Tekst 2  Obstacles to college 

 
1p 2 Which of the following fits the gap in paragraph 3? 

A Although  
B As 
C Unless 
 
 

Tekst 3  Letter to the editor 

 
1p 3 Which of the following fits the gap in paragraph 1? 

A Clearly 
B Curiously 
C Fortunately 
D Reluctantly 
E Suspiciously  
 

2p 4 Bepaal voor elke van de onderstaande beweringen of deze wel of niet 
overeenstemt met de inhoud van de brief. 
1 Illegal-alien amnesty encourages future unlawful immigration into the 

United States.  
2 Granting amnesty ignores the rule of law, rewarding those who have 

broken the law by granting them legal status.  
3 Granting legal status to illegal immigrants poses one of the main 

threats to Americans looking for a job.  
4 Increased automatic control of industrial processes is reducing the use 

of manpower. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
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1p 5 Which of the following best describes the tone of the letter? 
A condescending 
B impartial 
C indignant 
D tongue-in-cheek 
 
 

Tekst 4  Inside Whitehall 

 
“he is usually encouraged not to share them with the outside world” 
(alinea 1) 

1p 6 Wordt in alinea 7-10 duidelijk of de auteur vindt dat Letwin vaker naar 
buiten moet treden? 
Zo nee, antwoord “Nee”. Zo ja, citeer de eerste twee woorden van de zin 
waarin de mening van de auteur hierover blijkt. 
 

1p 7 Which of the following is in line with paragraph 2? 
A The writer agrees with Letwin’s views on the lines of development to 

be taken by the government. 
B The writer applauds Letwin’s efforts to avoid making ill-considered 

statements.  
C The writer emphasises that Letwin was too abstract and general in his 

speech on the role of the state. 
D The writer points out that Letwin’s discourse was sufficiently relevant 

to be regarded noteworthy. 
 

1p 8 Which of the following fits the gap in paragraph 4? 
A government intervention 
B such polarisation 
C the collaboration 
 

1p 9 How can paragraphs 6-8 be characterised best? 
A They contain additional information on Letwin’s view on the role of the 

state. 
B They elaborate on Letwin’s responsibilities for developing government 

policy. 
C They give examples of how national policies can be implemented 

locally. 
D They illustrate that a laissez-faire approach is more successful than 

regulation. 
E They suggest that behaviourism may well replace Marxism and 

capitalism. 
 
“this type of thinking” (alinea 9) 

1p 10 Hoe wordt deze manier van denken eerder in de tekst genoemd? 
Citeer dit.  
 


